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Year when the world population crossed six billion :
(1) 1997 (2) 1998
(3) 1999 (4y 2000

aéaaﬁrsaaﬁaﬂﬁ@nw:ma%’rﬂé:

(1) 1997 (2) 1998
(3) 1999 (4) 2000

2 Population studics is the synﬁnym of :
(1) Demography (2) Family education
(3) Life skili education (4) None of the above
SeEEn oA vaEEr ¥
(1) Srifbebl () ufEr e @t

(3) s we e w6 (4)<;qﬂaai’f%aé’r£=1%’f

3 Which of the following information forms the part of Civil Registration
System ? Select the answer from the codes given below :

(a) Birth (b) Death

(c) Marriage (d) Divorce |

(¢) Migration |

Code :

(1) (2 and (b) @) (a), (b) and ()

3) (), (0), () and (d) @) (@), (), (), (d) and (&)

ﬁﬁfﬁﬁﬁﬂ@ﬁﬁﬁﬂﬂﬁ@ﬂﬁﬁﬁﬁéﬂﬁ%ﬁqmw
%?%WWF@F@WWWW

(ay W™ )y T

(c) Taare (d) dHH

(e) TS

I -

(1) (a) AT b) @ (@), (b) dX ()

3) (a), (b), (&) T (D @ (@), (), (©), @ AT

(¥
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4 Wwho is said to be the father of Demography 7

(1) John Graunt (2) Wilkam Petty
3) Edmund Halley (4) Gregory King
o B & TRY SRl B S B Wi ¥ 7
(1) = A () TafeaH T
Gy g™ T (4) Bt T

5 Wwhich of the following countries are in stage 1 of the demographic
transition ? '

(1) Angola, Chad, Congo
(2) Guinea, Liberia, Malawi
(3) Niger, Somalia, Uganda
(4) None of the above

6 Which one is not the characteristic of stage Il of Demographic Transition ?
(1) Fertility rate is below replacement level
(2) Decline in death rate and rapid rise in population
3) Increase in youths, high fertility rate
(4). Bottom of 'age pyramid' widens first
ﬁﬂﬁ@rzﬁﬁwﬁﬁﬁqwzﬁr@ﬁfﬂaﬁﬁmqﬁ% ?
(1) wEE B e @T ¥ A T
(Z)ﬂﬁﬁmﬁaﬁrmwﬁ%ﬁ%%w
(3) ﬁﬁﬁfﬂaﬁmﬁqﬁi,ﬁuﬁ?ﬂﬁ
@ ong G B o IS0 EA
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7 The long term objective to achieve stable population by 2045 has now
been shifted to
(1) 2050 (2) 2060
(3) 2070 (4) 2080
Wﬁaﬂﬂw%wéﬁﬁmaﬁwﬁﬁ 2,045 T Ry G
=y BT AT WS SEADHL B fy T B ' -
(1) 2050 (2) 2060
(3) 2070 (@) 2080

8 According to NFHS-2 arrange the following religious groups in descending
order based on where use of contraceptive is highest :

(1) Hindus, Sikhs, Jain, Muslim, Christian

(2) Christian, Hindus, Sikhs Jain, Mushm

(3) Sikhs, Jain, Christian, Hindus, Muslims

4 Muslims, Hindus, Christians, Sikhs, Jain
Wwwmﬂ%aﬁ%ﬁ%ﬂﬁ%@ﬁﬂ%ﬁ%mﬁ
¥ onur UT FEdE A W W M ¢ -

1y feg, R, 99, Hftere, BelE

(2) TR, g, R S, gRer

3y T, oW, B, T e

(4) Them, R, Srfyems, B, S

9 As per 2011 census the proportion of rural urban population in India is
(1) 68:32 appX. (2) 6931 appx.
(3) 70:30 appX. (4) 60:40 appx.

2011 ﬁw%wmﬁmﬁw@aﬁﬂmm
HIUR &
(1)  68:32 AT (2) 69:31 W

(3) 70:30 WA (4) = 60:40 FTH

so/poPULSTOA) AN (Conta--



10 While calculating maternal mortality which one category is taken into
account

(1) Death of female of all the age group
(2) Death of married women only
(3) Death of women during delivery of child

(4) Death of women in 19-45 age group
AR Y ® T R % g B H W few gl wy oanfim e

ST g7

(1) omg ¥ gf Al @ 5y @

(2) b {gmiEw wRenell & g W

(3) wog A TE Hiewmel W gag @i

(4) 19-45 ong =t @ wRewed @ TG @

11 According to 2011 census what is the percentage of dependent population

in India ?
(h 37% 2) 39.9%
(3) 35.8% {(4) 384%

2011ﬁwm%m§mtwﬁmﬂaﬂﬁwwuﬁrm%f
(1 37% Q) 39.9%

(3) 358% (4) 38.4%

12 Which state has highest child sex ratio as per 2011 census ?

(1) Uttar Pradesh (2) Haryana
(3) Chhattisgarh {4) Punjab
SEOET 2011 & HgER few w ¥ g ergue wed st ¥ 7
(1) TAT WA 2)
(3) =TS (4) dUNE
350/ POPULSTD_A| s ALY 1Conta.-
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13 Top 5 states in share of urban population are :

(1) Mizoram, Kerala, Goa, Tamilnadu, Maharashtra
(2) Maharashira, Tamilnadu, Kerala, Mizoram, Goa
(3) Kerala, Tamilnadu, Mizoram, Maharashtra, Goa

(4)  Goa, Mizoram, Tamilnadu, Kerala, Maharasthra
wdifes Tl shisw o e e -

(1) fsirem, @, Men, afws, werms

(2) merTe, afterrs, e, T, den

(3) xw, abwerg, P, werme, e

@) men, PeE, dfer, S, TR

14  The denominator while calculating physiological density, is
(1) Total land area
(2) Total agriculturable land area
(3) Total forest area

(4) Total area under forest and agriculture

HIRH A NF U W T B F Syt {Denominator) ¥ :
(1w o o

@ T B drw g F G

(3) TW FTIH W A

@) g T + gy W 9w e

IS State where [iteracy rate is same in both, males and females during -

2001-2011 -
(1) Nagaland (2) Mizoram

(3) Tripura (4) Arunachal Pradesh
T SET geY U Afel @weRal a3 2001-2011 ¥ wOw d
(1) rmetve () Pl

(3)' Broa (4) TEEA w9l

350/ POPULSTD_ 4| 6 I 1Conta..
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16 State which has made policy to give a reward of 2,50,000 rupees to
communities that achieve a target sex ratio among recorded birth :
(I) Punjab (Z) Haryana
(3) Himachal Pradesh (4) Uttrakhand
T e wyEr @, Gﬁaﬁqéf@amwﬁﬁm—jma%awaﬁmém
2,50,000 ¥. 1 WikCiw® 7 B G g T o
() uww (2) &Feom
(3) TmmEm W (4) wEUETs
17 Which one is. the measure of health indicator 9
(1)  Number of medical colleges
(2) Doctor patient ratio
(3) Awvailability of medical staff in the health centre
(4)  Availability of private nursing home
Frer % w9 wre A @ ddew ¥
() whwa @i & den
(2) =R "S @ erue
(3) @R & uY Tafeem &9 & Sydeyd
(4) vwgaz THTEM @ Sy
18  Which one is not the indication of quality life ?
(1) Low infant mortality rate
(2) High percapita income
(3) Mid day meal to school going children
(4) Adopting small family norm
frer & @ @ st @ qoEen w1 gaw 98 o7
(1) e 9w ggE
2 A vl =fm emg
() TEmem sew et w1 wwmwa e
(4) Bl TRER % AHE B St
350 /POPULSTD_A| 7 NNV QY 1 Contd...
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19  Any country / economy is said to be in 'Population Dividend' if the part

of working / productive population in comparision to dependent' portion
of population is :

(1) Considerably higher (2) Slightly higher

(3) Almost equal (4) Considerably low

R ot 291 / ordemmeen ot SHiRESE @ @ Rafy w wer omar ¥ oaflk
anftfes &0 & Trmedia [ Swres STt @t W sTREE TR 9T § geeies

wq A
(1) & 3HE 3 () wTHT ottt F
(3) ET ® (4) & FH ¥

20  According to 2011 census which of the following statements are
correct ? Select the answer from the code given below :

(a) MP have highest number of ST people.

(b) UP have highest number of SC people.

(c) Maharashtra has largest area.

(d) Sikkim is the state with lowest population.
Code :

(1) (a) and (b)

(2) (a), (b), and (¢}

(3) (b, (¢) and (d)

#) (a), (b) and (d)

ST 2011 & orgER B A @ @ @ wew @@ ¥ ? A Ru ge
¥ @ wd s ghnt

() waifys orERE =iy I =9 § Wy o)
(b) wEYS YA Sfq I TEY TAT TR T
(c) waltter @%@ TN T RIS B

(d) —gow swden T Y fakem ¥

Fe -

(1) (2) &T (b)

2) (), () 3T ()

(3) (), (¢) & (d)

4) (a), (b) ¥R (d)

350/ POPULSTD A S M Cone-
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21 According to 2011 census the decennial growth of 21.44 in the population
of Rajasthan in comparision to 28.44 in 2001 shows :

(1) Slow decrease in birth rate

(2) Moderate decrease in birth rate
(3) Steep decrease in birth rate
(4) No significant change

2011 o SO % ATER TSRUM § SEe @l 21.44% & wvEA
g 2001 @ 28.44% @ ga F IR ¥

() = § 7= T " e
(2) SR T Hegw ufy W@
(3) SR ¥ A MR ¥ w
@ e e e T

22  National Population Fund was established to carry out related activities
in the country in :

(1) 2000
(2) 2001
(3) 2002
(4) 2003

3T § segEn ¥ gehud TRt w s 6 e s SeEEt S
o T B W dr e

(1) 2000

(2) 2001

(3) 2002

(4) 2003
350/ POPULSTD_A] ? [MEHRINB Y (Contd...
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23

24

The state with lowest literacy rate is :
(1) Arunachal pradesh (2) Bihar

(3) Rajasthan (4) Jbharkhand
q9Y Y HEddr g e T o
(1) <T6ua@ WE9T 2y PrEr

(3) ST 4) FARGE

Given below are two statements, one is labeled as Assertion (A) and the
other labeled as Logic (R) :

Assertion (A) : Educated husband follow small family norms.

Logic (R} : Education does play role in limiting family size in the
context of above.

Which one is a correct combination ?
(1) Both (A) and (R) are true and (R) is correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not correct explanation of (A)
(3) (A) may not be true but (R) is correct

(4)  All the above are wrong
%ﬁmw%qwq%@a{ﬁmw(maﬂ?ma%(k)%:
At (A) @ B ofy B wfan @ aeie 39 3

% (R) : R uftarw & Gt e el qfe frae 3
R oW g ¥ o9 s ghe |
(1) (A) &R ®R) I 8 ¥ &l R), (A) & 98 WSy &

@) (A) T R AF T ¥ Ty R), (A) & T wSwwr T 2
() (A) W& 7 W & g R) @ ¥

(4) SR & g ¥

350/ POPULSTD_A| 10 BARIE Con.
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25  Given below are two statements, one is labeled as Assertion (A) and the

other labeled as Reason (R)
Assertion (A) : Scandinavian countries have least child mortality rate.

Reason (R) :  Minimising error's in exogenous factors help in decreasing

child mortality rate.
In the context of above which one Is correct :
(1) Both (A) and (R) is true and (R} is correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not correct explanation
of (A)

(3) (A) is correct and (R) is not correct

(4) (A) is not correct and (R) is correct
ﬁi%ra’rmﬁﬁqm%wmﬁmmm)aﬂtmwm)%
AHET (A) . ﬁ%ﬁ%%&ﬁﬁwﬂmm%l

BT (R) : wwﬁaﬁmﬁmﬁﬁwwwgaﬂwm
WM W W wers ¥ |

ﬁﬁ&'n&@ﬁwwqﬁa:

M (A ok ®) I w& ¥ ol R), (A) B @ whE 2
@ W ®) W T Y R), (A) F A w3
3) (A) T ¥ ok ®R) wh W %

@ (A) ¥ T8 ¥ ok R) v 3
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26 Match List T with List 11 and select the correct answer from the codes

given below |
List I

(A) State with highest urban

centres

(B) State with highest urban

Population

(C) State with highest density

of Population

(D) State with lowest density

of Population

Code :
(A)
(1)
(2)
(3)
“)

a0 0 oW

(B)

b
c
b
¢

()

a

4

List 11
Detlhi

Arunachal Pradesh

Mabharashtra

Tamil Nadu

b

LW T 0 gafra @R ok e Ru e ¥ ¥ wd wdx @

EER N L
Tl 1

(A) HUHTH TTOHT g

B) TIH atfts Tdg
SR A

(C) ofitmpay Oveg oI
SHE B TR

(D) AqH T T
AT BT G390

F :

(A)
(1) a
(2) d
G ¢
# d

350 / POPULSTD A]
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12

Th 10
&Gl

ATEUTSRT UR9T

HERTSE

D)
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27  Which one is the following needs only female live birth's data for calculation ?
(1) Total fertility rate
(2) Gross reproductive rate
(3) Age specific fertility rate
(4)  General fertility rate

frer § ¥ @l e % fia Rk R st ¥ oniwet @ & e
o ST & 7

(1) P o= 8%
(2 9 gEagh W)
(3) omgRtTE TS =X

(4) WEFT WET X

28 Cities in Rajasthan having more than 10 lac population are :

(1) Jaipur Jodhpur Kota

(2) Jaipur Kota Bikaner

(3) Jaipur Jodhpur Ajmer

(4) Jaipur Bikaner Ajmer

IR F AT 98 B SEEn 10 W ¥ e ¥ 7
(1) ¥, R, He

(2) wEgy, @, fmer

(3) SEER, TR, ST

(4) AR, FEER, e

350 /POPULSTD_A] 3 ERNEHLINY fCentd.
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29

30

31

The population of Rajasthan which was 5 crore in 1996 took 7 years to
cross 7 crore. The proportionate per year increase was .

(1y 12 lac (2) 13.5 lac

(3) 143 lac 4) 14.6 lac

waﬁa%awﬁsﬁm%ﬁswaseﬁﬁ?miﬁw?mﬁs
ﬁﬂ%luﬁfa&aﬁaﬂwﬁzﬁq@w@?

(1) 12 wE @ 135 W@

(3) 14.3 W@ (4) 14.6 W@

As per 2011 census the birth rate in Rajasthan is 27.2 (per 1000 person)
To what points it is higher 10 national average birth rate ?

1y 4.7 ) 3.7
(3) 5.2 (4 55

2011 W%Wﬂmﬁﬁ(ﬁlomaﬁmﬁ)w
27.2%@%“&;‘1?1@?1%@?%%@‘«?(@11%%?

(1 47 Q) 3.7

(3) 52 (4) 5.5

The percentage of decadal increase in the population of India in 2011 is:
(1) 173 2y 17.7

(3) 175 (4 179
2011ﬁwa%aaﬁ@nﬁfaaﬁﬁaqﬁgmuﬁm%:

(1) 173 Q) 177

@3y 175 @ 179

350/ POPULSTD_AL 14 RN 1Come--



350/A 350\ 35U/ 00WIN ouvis v -

32 In India the literacy rate of 73% in 2011 shows how much decadal increase
in comparision to 2001 7
(y 8% (2) 82%
(3) 85% 4y 8.9%
2011 ¥ wra @ wERar ax 73% 1 7w 2001 # gem # feam wfaed
afis ¥ 7
(1) 8% (2) 8.2%
(3) 85% (4) 895%

33  Which of the following statement is correct ? Select the correct answer
from the codes given below :
(a) Delhi with 11320 persons per sq. km. is most densely populated.
(b) Chandigarh with 9250 persons per sq. km. is second most densely

populated.

(¢) In 2001 Chandigarh was No. 1 and Delhi was No. 2.
(d) The situation of Delhi and Chandigarh was same in 2001 and 2011.
Code :
(1) (a) and (b) 2) Only (¢}
(3) Only (d) ; 4) (a), (b) and (d)
fom ¥ 3 i T e W 2 A R ge & TA T @1 T H
(a) Tl 113203&&51@%%&1&@%&#{%@%:
(b) wSFE 9250 i wa. 6 % @ gl Tl SEEE £
(c) 2001ﬁf'r§m:i.-1wmaﬂ1ﬁﬁ?r:i.2mcl
(d)ﬁ—ﬁ?reiﬁfié’ma?rﬁa%zomﬁatﬁei’raﬁzouﬁl
HE ¢
(1 (2 R O (2) %W ()
(3) IS (d) @ (2, () T (@)

350/ POPULSTD_Al 15 IR (Contd--
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34 Match List I with List 11 and select the correct answer from the codes

given below :

List 1 List II
World population crossed Time taken
A Fourth billion 12 yrs

a
Fifth biilion - b 15 yrs

B

C Sixth billion C 13 yrs

D Seventh billion d 12 yrs
e IOIyrs

Code :

A B C D
(1) b c a e
2y a b c d
3 b c a d
4) a b e C
T 1 # = 0¥ gafwa Afrg ok N Re g2 @ @f ST @ 9
HImT -

L g 11
fovg sEEm SiwsT Qe T @MW
A  HR W a 12 °¢
B U &d b 159
C ® & c 13 o9
D U 8d d 1299

e 10 =§
Fe ¢

A B C D
(1) b c a e
2) a b c d
G) b o 2 d
4y a b e Cc

350 / POPULSTD_A] 16
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35 In which age group the mortality rate in India is high ?

(1) 0-4 yrs. (2)  5-9 yrs.
(3) 10-14 yrs. (4)  15-19 yrs.
o ¥ fpE @ o ¥ goger et &7

(1) 0-4 a¥ 2) 5-9 a¢

3) 10-14 a¢ ) 15-19 a9

36 In which age group the rate of migration is high in India ?

(1) 5-14 yrs, (2) 15-35 yrs.
(3) 36-50 yrs. (4) 51 yrs. and above
IR ¥ fow oy o § wemw e ¥ 7

(1 5-14 =9 (2) 15-35 99

(3) 36-50 = 4) 51 a9 uwd orfie

37  For caleulating general fertility rate the numerator includes
(1) Total No. of live births to a woman in her life span
(2) Total No. of live birth in a calendar years
3) Tbtal No. 61" live female births in a calendar years

(4) Total No. of alive infants in a calendar years
AT W X B T F wrex ¥ fwar W & o
(1) ws ufgen & e »w § gu MR s o gen
() .%Wﬁﬁﬁgﬁhﬁaﬁaﬁm
(3) uw wever af ¥ gu fra alfmer st @ gen
(@) uh weex 9 ¥ fuRe @ Ruggel # e

350/POPULSTD _A| 17 WA 1Contd...
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38 In which year India jaunched family planning officially ?

(1y 1951 (2) 1952
(3) 1953 (4) 1954
Wﬁqﬁ?ﬁ?ﬂaﬁaﬁwﬁ?ﬁﬁr{wwﬁgﬁMW ?
(1) 1951 (2) 1952

(3) 1953 @) 1954

39  What is the expectancy of life in India in the present ?
(1) 60 yrs. (2) 61 yrs.
(3) 62 yrs. 4y 63 yrs.
adae F mE § ohad @ el foat 20
(1) 60 a¥ 2y 61 T
3) 62 ad @) 63 ad

40 The main cause of improvement in life expectancy' in India 15 -
(1) Decrease in mortality rate
(2) Improvement in medical and health services
(3) Decrease in fertility rate

(4) Use of contraceptive measures

Wﬁsﬁaﬁa%’rmma@%mg@:w%:

350/ POPULSTD_A] i LAy (Contd--
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41 "The poor of the world can not be helped by mass production but by
producing by masses" who said it with reference to food security to poor :

(1) Swami Vivekanand (2) Mahatma Gandhi

(3) Alvin Toffler (4) Indira Gandhi
“ﬁrsaﬁﬁnﬁa?a%mmagamaﬂ%ﬁﬁaﬁmﬂgﬁmw
FHEHT B S waEdr

e B gen & w=d ¥ e waT Rewar o7

() =& yEere (2) TreEN T

() dfmT At @) sty wr

42 Almost every city and town is facing shortage of water today. It is
due to :

(1) Uncertainity of rain fall

(2) Population growth

(3) Improper management of water

(4) Change in habit
stmwmmmﬁrﬁw@rm%ww%—
(1) a9t & afif=d

(2) e qha

(3) Wl FT eRT wewE

4) arraﬁ‘r A FEara

43 The type of relation between population growth and development is :

(1) Directly proportional (2) Inversly proportional
(3) No relation at all (4) Differ from place to place
SEEN e ud Rew we q@y & B9 ewfug ¥ o7
() WA ¥ @) syt ¥
(3) Y =Y T 3 (4) N W 9T SEwar B
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44

45

46

State where female work participation rate is highest :
(1} Uttrakhand (2) Arunachal Pradesh
(3) Himachal Pradesh (4) Mampur

v s afwet @ o el w@itie ¥ o

(1) BT (2) oTEUTEE YeH

(3) e waw (4) TR

According to NFHS-2 the approximate percentage of under nourished

women in India is

(1) 36% (2) 38%
() 40% @ 2%
o T uE T z%awwﬁwﬁaq%maﬁwuﬁrm%:
(1) 36% (2) 38%
(3)  40% (4) 42%

Which of the following supports sustainable development 7
(1) Plastic as a substitute of wood

(2) Replacement of steam engine with eie_ctric locomotine
(3) Building township

(4) Open earth mining

frer A @ Pided fww @ wedm e ¥ 7

(1) w@d & WH U s Al SR
(2)%%%%%@%@3%3@%3@?
(3) ersARm et fre

(4) Far WA
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47  Match List T and List Il and select the answer from the codes given
below

List ¥ List II
A World population mark a 1980
crossed 5 billion mark
B Population of India doubled b 1975

first time
C  International women year c 1971
D National population , d 1987

education programme

was launched

e 1985

Code : _

A B C D
() e a c d
(2) d b a c
3) d c b a
4 c e d a
LW T gate et g ofit 9 Ru w3 ¥ w9 vt w
TG BT

LSS S T I
A fw & swdenm 5 s a 1980

wgel
B WA & SHE@n @ T b 1975

O

C oAU dgfear o9 ¢ 1971
D U SwEE sEey d 1987

AT A '

e 1985

%i_': :

A B C D
H e a c d
2 d b a ¢
3 d c b a
4 c e d a
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48

49

The population of Indiy in 1901 was 2384 million. Hew much incry

in percentage was recorded in 2001 9
(1) 43159
(2) 43259

(3)  433.5%

What is meant by stable population ?
(1) Birth rate below replacement level
(2) CBR and CDR almost equal

(3) 'In and out migration nil

(4) None of the above

ﬁwmﬁw@rwmﬁ%?
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50  Match List 1 and List II and select the correct answer usmg the codes

given below:
List I List 10
Optimum population theory a Spermen and Gini
B Mathematical Theory of b Warren Thompson
logistic growth
C  Biological Theory c Edwin Cannan
D Theory of Demographic d Vernhulst, Pearl and Reed
Transition
Code :
A . B C D
(1) b < d a
2y ¢ d a b
3y a b c d
“4) d a b c

T T & gl I @ gt i ok 99 Ro o2 & @@ e &1 @
ST

gt 1 LIl
A ST wEen RErd 2 was o fr
B uftwie wfe afs frmra b aiw gragw
C s frama c wERm &M
D sifbaE @ fmr d e, T og A
&
A B C D
(1) b c d a
@ ¢ d a b
(3) a b o d
4 d a b ¢
350/ POPULSTD_A| 23 BRI Conte..
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51 The propounder of ‘The Diet Principle’ under Biological Theory of

popuiation 18 .

(1) Thomas Sadier

(2) Herbert Spencer

(3) Corrado Gini

(4) Doubleday .

AEEEe i oTE dERee ¥ ded q@ % e & gRies ® o
(1) @ ¥

(2) T W=
(3) @ fEr
(4) wEwE

52  Which one from the following statements is not correct ?

(1) Birth rate in Rajasthan is higher than the average birth rate of
the country.

(2) Death rate in Rajasthan is lower than the average death rate of

the country.

(3) Density of population in Rajasthan is low than the density of total
population in the country.

(4) Literacy rate in Rajasthan is higher than the total literacy rate of
the country.

frer H A @ wuT wH TG T 7

(1)Wﬁwéﬁfﬁmﬁwém%l

(2)welmﬁw?%mzﬁraﬂwwﬁrw%l

(3}wmﬁaﬂwmma%mﬁm@w%eﬁwmﬁ@r
wH Tl

(4) T:rﬂwmfimmm%ﬂa%eﬂwmwm@raﬁtﬁ%
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53  Which of the following fertiity raies Is exprooasu b e

woman ?
(1) Total fertility rate (2) Gross reproductive rate
(3) General fertility rate (4) Net reproductive rate

54 Which one of the following target set in NPP 2006 has been achieved 7
(1) Bring down IMR up to 30 per 1000 five birth
(2) Bring down MMR up to 100 per 100000 live birth

(3) Free and compulsory education up to 14 yrs of age

(4) None above

ﬂ@?ﬂmﬂw% 2000 ﬁﬁﬁﬁ%ﬁﬁmﬁaﬁaﬁwﬁmm
fomy T %P

(1) Ty FIEK @ 30 ufy 1000 Wi = 9% @

oy

(2) W YRR 100 air 100000 i@ = TH @EN
(3) f?naﬂaﬁlzlaﬁmwgwqﬁaﬁmﬁw
@ SriE ¥ W B T

55 Areawise largest state of India is :
(1) Uttar Pradesh (2) Madhya Pradesh
(3) Rajasthan (4) Maharashtra

W%Wwwwma@w%:

(1) FAC was () T\ UeH
3y TR (4) TERT™Z
350 / POPULSTD Al 25 MBI (Comed--

e ¥EEl

PR o



oINS B WIVAVFEES NS IWY AN § IVIUVAR N BISIVFER DDUL L DL N

56 Which is most populated state of India ? -
(1) Maharashtra (Z) Uttar Pradesh
(3) Madhya Pradesh (4) Rajasthan

T HT Ga8E TEEE al o

(1) meTes (2) TEX WET
(3) HET WA (4) T

57  Estimates and projections of urban and rural population of all the countries
and their urban aglonurations in the world are issued under World
Urbanisation Prospects by which of the following organisation :

(1) United Nations

(2) World Bank

(3) International Monetary Fund

(4) Ford foundation

freg & @l A9 B wrfior - Y SEEEn T SAE e ThE @Al

& ey Rty g vl simen Cfavg Trilew guera’ & dsd Sl
HH O G ¥ o

(1) dyad g
(2) fava 9=
@) RIS &1 B

(4) WE BeeIH

58  Which is the effective way to communicate about various population and
health related issues to masses ?

(1) Exhibition (2) Nukkad Natak
(3) Film (4) All the above
SNEHRE B SNEE Y wed § wabud TE @0 el 31 ¥ ugEw
% U T gyed adier BEET § 7
(1)  wagir (2) TS TRH
(3) T 4) v ad
350/ POPULSTD. Al 2 UMM (Conte..
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59 What is the percentage of total world population that resides in Asia
continent ?
1) 50% 2) 55%
(3) 60% (4) 65%
@mmﬁﬂﬁ%&aaﬁﬁmﬁuﬁrmmﬁwmwﬁ% ?
(1 50% @) 55%
(3) 60% C(4) 65%
60 The percentage of total population of Asia that resides in India is :
: (1y 27% 2) 28%
Gy 29% @) 30% | |
R TR U
f (1) 27% (2) 28%
! (3) 29% 4) 30%
61 State where female literacy rate is lowest :
(1) Maharashira (2) Orissa
(3) Uttar Pradesh (4) Madhya Pradesh
oq e ARl # e 99 ¥ @ §
(1) "R (2) s
(3) AT YA | ' (&) HE WA
62  Which of the following source of energy contributes the least to environmental
problems 7
(1) Solar (2) Coal
(3) Petroleum (4) Nuclear
Rrer § @ S @ wEl Bid waiEe weiell B W g 7
1 ¥R (2) ®rE
(3) Uz (4) e
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63

64

Which one is more responsible for internal migration ?
(1) Employment

(2) Studies

(3) Marriélge

(4) Moving of parents / earning member

P & @ @ eRv awle Teew ¥ Tie ot Rreer 7

LORREES

(2) ey
) fram |
) waftE /| e9% S9 ® S

Which of the following factor is associated with decline in fertility in
developed countries ?

(A) Industrialisation
(B) Urbanisation
(C) Increased cost of bringing up children and rising levels of living

(D) Social mobility

Caode :
(1) Only (C) (2) (A) and (D)
(3)  (A), (C) and (D) @) (A), (B), (C) and (D)

Pres & ¥ @9 § wre Retrd 3 Y use aw B 99 ad
GEES &7

(A) Tt

(B) RO

©) = ® weTIed TY o qig ud wEsT @i ¥ 9@l
(D) wrie Tiasieran

Z@f M
(1) %A (C) (2) (A) 3% (D)
(3) (A), (C) 3lT (D) (4) (A), (B), (C) T (D)

350/ POPULSTD. | 2 IR (Consa..
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65 Which of the following combination shows the correct scope of

population studies 7

(1)
)

3

C)

Psychology, Sociology, Economics, Geography, Biology

Biology, Mathematic, Behavioural Science, Sociclogy, Economics,

Geography and History, Demography

Life Science, Mathematic and Statistic, Behavioural Science, Sociology,

Economics, Geography

History, Geography, Economics, Sociology, Demography ‘

P ¥ A e duie SEEeEl oredd % 9 en & avfar & 7

(1
()

3)
4

AR, ST, eefswe, e, ShefE

R, 1, wEeRr e, GaeeTe, adar, e Td 5O,
ERHCTA

e ferem, whtme we wiftere, eraerR fastm, GAIOTE, ST, W
Shrew, i, A, GHISIYTEA, SIhD!

66 Which of the following as per United Nations should be given top

priority to obtain direct information on migration ?

(1) Change of address

(2) Place of birth
(3) Place of last residence
(4) Duration of residence in the place of enumeration
zEy T yeeE @ @l gem 9i & fwe e N ¥ Rewer wurwr
T E P
(1) W F uiEe
(2) W WH
G) @ Fam wm=
(4) W HE 9 N X | w e
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67 The shape of age pyramid on India's population will be :

(1) Pyramid shaped (2) Bell shaped

(3) Urn shaped (4) None of the above
Tra @ ST Y ong RTiE R e @ s 7
(1) fuofs wieed (2) = wlaed

(3) wwy ke (@) SriEd ¥ ¥ ®E

68 Which of the following state have highest number of aged people ?

(1) Goa . (2) Pumab

(3) Kerala (4) Uttrakhand
oo ¥ ¥ fog wem F gE @ den gatie ¥ 7
(1) e (2) U=

G) w (4) STUETs

69 According to 2011 census the number of cities having slum have :

(}) Increased (2) Decreased

(3) No change (4) Not clear

5011 @ SCTET H QMER AR SRl 9w TR @ wern # o
(1) «@ad g % () ®N ;T

() @ uiads w8 ¥ (4 T & ¥

70 State having highest number of slums :

(1) Tamil Nadu (2) West Bengal
(3) Uttar Pradesh (4) Maharashtra
waifys i s aen WF ¥

(1) afber, (2) uiEH T
(3) ST YW (4) WIS

41  State where total literacy rate is more than 80%

(1) Mizoram (2) Arunachal Pradesh
(3) Delhi (4) Goa

v wEl weTEEl 80% ¥ aftwm ¥

(1) TheneE (2) orouTEE YS9

() Rww (4) e
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73

74

75

District of Rajasthan where female proportlon per ”10.00 male 15
lowest

(1) Dholpur (2) Ganganagar

(3) Jaisalmer (4) Barmer

SRAT T T orE ARt @ ogdd U 1000 gEW ¥ wH T
(1)  =eye (2) MR

(3) StETR @) T

Number of female per 1000 male in rural area of Rajasthan is :

(1) 930 (2) 933

(3) 935 (4) 938

TerET % oueor &t ¥ WY 1000 geul ux wRanel @ wiase ¥
a 90 2) 933 |

(3) 935 (4) 938

Which of the: following source of energy is renewable 7

(1) Solar (2) Coal

(3) Petroleum (4) Nuclear ;
Bt o @ @ @ w27 )
O dr | @) @ |
@) wafwm @) AT

Which of the following is not sustainable development ?
¢ Cdnstmction of dam on river

(2) Construction of highways and rail track

(3) Converting forest into agriculture land

(4) Promoting social forestry

P N ¥ amer Predeta R @ ¥ ?

) SR o) Sty w0

(2) wsH 9 (W wWed fewrn

(3) SH ® HRETE S

(@) gfve el @ e &
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